It’s a Drag

Individual Assessment

Answer Key

Robots Flash and Lightning completed a drag race.  Use the information below to figure out the equations that can be used to find the missing times.  Complete the data tables for each robot. 

Robot: Flash

	X

checkpoints
	Equation

(3.5) X = Y
	Y

seconds
	Ordered Pair

	1
	3.5 (1) = 3.5
	3.5
	(1, 3.5)

	2
	3.5 (2) = 7
	7
	(2, 7)

	3
	3.5 (3) = 10.5
	10.5
	(3, 10.5)

	4  (finish)
	3.5 (4)= 14
	14
	(4, 14)


Robot: Lightning

	X

checkpoints
	Equation

(4) X = Y
	Y

seconds
	Ordered Pair

	1
	4 (1) = 4
	4
	(1, 4)

	2
	4 (2) = 8
	8
	(2, 8)

	3
	4 (3) = 12
	12
	(3, 12)

	4  (finish)
	4 (4) = 16
	16
	(4, 16)


Which robot won the race? (Flash) How much faster did he run the course? (2 seconds)

If the course was twice as long, what would be the finishing times for:

Flash 28 seconds       Lightning 32 seconds
Create a coordinate graph on a piece of graph paper to show slopes for Flash and Lightning. Remember to label and use different colors for the two slopes.
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